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4. (v points) Which statements describe the following molecule? & MO OH-- 5 o—Ho,
%

L. It is a water insoluble carbohydrate, : o ﬁ
IT. Tt is a polymer of glucose. 2, - o

III. It can be digested by human saliva. H e ke S
IV. It is found abundantly in plant cell cytoplasm. Lo g%o
V. It breaks into sucrose. %_m
I, 11
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V#. (Y points) The structure of heart and circulatory system varies among different vertebrates. Three
sample animals have the following characteristics:

I. The oxygenated and deoxygenated blood is mixed in the heart of this animal.
I1. Tt has a four chambered heart.
IT1. Only deoxygenated blood is pumped through the heart of this animal.

Choose the correect choice which matches the above three animals respectively -left to right.
il frog, crocodile, fish <) eagle, koala, fish z) lizard, fish, snake
z) fish, koala, frog 3) platypus, eagle, frog
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YY. (Y points) Homeostasis is best defined as:

) The ability to change rigid internal environment, in accordance to fluctuation in the external
environment.

) The ability to cope with the change in external environment, in order to avoid changes in the internal
environment.

z) The ability to improve the external environment to improve the internal environment.

3) The ability to maintain a reasonably steady internal environment, despite fluctuation in the external
environment.

_») The ability to monitor changes in the external environment and compare it with the internal environment.
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¥). (Y points) Which statement is incorrect about habituation?

&) Tt shows influence of environment on the behavior.

<) It is an example of learning.

z) It is a loss of responsiveness on stimuli that convey useful information.

2) It may increase fitness by allowing an animal's nervous system to focus on stimuli that signal presence of

more important things.
) A Hydra doesn't response to useless stimuli; this is an example of habituation.

£Y. (Y points) Which statements are inappropriate descriptions for individuals of a species with clumped
dispersion?

L. Strong food competition between individuals

1. Increasing efficiency of hunting

I11. Non-uniform pattern of food distribution in the environment

IV. Absence of strong interactions between individuals

G LI LIV o 1L 111 LIV =) L III, IV

VoS dx iy | Ve dds




M e Js! e o5e]

Jilwo

S pads baya JSare slaals 1) Al clagd) g dy el Cund 4 sl anulgs L 1451 (o3ae pj sla st 4 ol gl (ol
18 3l dalisenls 13 25 Sg 4 by o Wujgl o Cawd 4 1) V4T 3ke 51 Mt b gty i, 35

oo o C gkl od,

\ . 3 / i

gty JLiel 03) ¥ B 0l 08 Oj50 1) 20e adbacily (g)liel 08 ¥ 5l e L ol Gl & (500 3 06 2B

Ol 5308 Fdliie b &) Conpd Gl il 0ud 4285 Lo Balaly (VL 3 il 5355 1 Bgmi b abl, 3 2k Clmisys

oole [ M Jolxa o clile
A YM
B YoM

B ALY Joloa cnlctls s M Jolos &g & ulojl planil (gl a3 2 2Y g ) il #
Moo ) sladslxe Sype 4 C 5 A slansle 9800 LS5 L Joan 13 000 e clackile LC
Chl Sl olge el dan o wuily o .l 3939 ol o8& Ll 3 o Lalld 135 s 40 B 83l 5 b
LA ol Jso 02530 5 W2 A 55 4 C B Ay Jsop2)
gl Ced ) o5 A 53 ouly el 03,5 0 LIS A Jolone yISlAT XN 355 s Jsbone dg (5 o ol 51

STl 03,8 ol B 339 o35 Lo a5 il Jaloo ol g5 gl 0, s ol WY
Scanl 03,8 o3lizul € Joloma o) So st | oled Jglme dud sl 09380 ool Y

4 atadly (g5len ool 4 5 Lzl pads aas sl (el 3 ] (clow S S3lyg blie dabo e Y
(e cs 3 (Gl b Comad 3 X'y aisly slagilosy Jlgl3 3590 53) T3 X pgjgng S

AHETO T iy e g Sy 9 U 5 b8 JUo 3 o YIS b)) ()58 Cumer T+ (mer pp 25 L P
A 5l 5388 il 4 Cples g Sl ong e Ve e e a il 15 00 s )5 & Sple 25 Gutmas Cushdy Cuner B Ve
Sl 039y do 3 Hix 838 L 5 (Growth rate) coses 15, 205 283 43, ol oad )15 30l oles bl

359 3l & paadin )13 b5 s e L) (ol (amea g3 |y oGl L LA oo o8 )l Jae pgjad 4 558 D
o (..L::L! P’)}.‘-‘! 090 uaj ]n:’;e P LA J> sle LQ,J' (JY? Yo Elle Ll) D ;Lg O Lg'.hJ,SJ?A )51 il Yo M 5”' 3 ] M
(ol 236355 D J5Sge 5 5955 g &2 o 5 dedpit ol 50 & o pajad lid o 08 CB) ol RIS di> pgjgd ol (ol

[ ] 3 i glos WS e sanlis Lo a0 &5 (g F

G e b 05K See ) & Gl Culy Coowr gl
| | ﬁqu;>Laal$%§ o Jf)ﬂ.cmdoxéaxdguf-x

B ol colee adl ash mpe ge e TVR L
S colis plp w eliid apee LS5 0 058y S
ol agiSan Vs b gy

HEFRRFELERERRS

W doio |\ 08 ds iy



